CBSE Class 12 Economics Compartment Question Paper 2017 (July 17, Set 1- 58/1/1)

SET -1
Series : GBM/1/C =T 58/1/1
— Code No.
N qieaefi shig i IT-Y&Teh1 o JE-T53
39 o1 |
Roll No.

Candidates must write the Code on
the title page of the answer-book.

® FHUAT I HLA foh SHIH-TAH YGd TS 127 |

® TI-UH H glig- 81 <hl 3R TEU TTT hIg FrI <hl BT ItR-J TRl o JE-T53 T o7 |
® HUASATE BN oh 38 THA-TH H 30 T 2 |

® HUAT Y3 I I TG TE HH € U8, W 1 HHTeh HI9F ford |

® I YYH-UA bl UG o 1T 15 THAC 1 T8 TS 71 8 | T9-93 < ToIaior gaig | 10.15 &t
fohdT STTET | 10.15 <1 & 10.30 §IS1 doh B hdel I3H-T bl Jeil AN 39 374 b G- o
FT-YIETehT T hIg I A&l for@ |

e Please check that this question paper contains 12 printed pages.

e (Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 30 questions.

e Please write down the Serial Number of the question before attempting it.

e |5 minute time has been allotted to read this question paper. The question paper will be
distributed at-10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.

ECONOMICS

FETRa a7 - 3 g2 371erbaq 3% - 100
Time allowed : 3 hours Maximum Marks : 100

Wﬁéﬂ:
(i) @l @vsl & Gt g9 A & |
(ii) YA J97 & G 37 3P 9T T4 & |

(iii) TP GEIT1 -5 3R 16 — 20 377 TG FTIT I97 &, I9% Jv7 1 37 F1 5 | T T &
I UE JIFTH T8 /
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(iv) 97 G&IT6 — 8 3R 21 — 23 T FTRIT J97 &, I79% J97 3 3% 1 & | T4 971 & I
I 60 J5G] G 3714 7 57 /

v) FITGETY9 — 11 3K 24 — 26 T8 41 &g FTRIT F97 &, I9% J97 & 4 3% & | T g1
& I GIHTT: 70 I @ 3718 T 51 |

Vi) ¥ GEIT 12— 15 3K 27 — 30 T 3507 I97 &, I 97 3 6 3% & | G 3941 &
3T G 100 I15] @ 371 7 57 |

(vii) WW%W#WWW%WWJW%WWW%W
FT 1637 ST =T8T /

General Instructions :

(i)  All questions in both sections are compulsory.
(ii) Marks for questions are indicated against each question.

(iii)) Questions number 1 — 5 and 16 — 20 are very short answer questions carrying
1 mark each. They are required to be answered in one sentence.

(iv) Questions number 6 — 8 and 21 — 23 are short answer questions carrying
3 marks each. Answers to them should not normally exceed 60 words each.

(v) Questions number 9 — 11 and 24 — 26 are also short answer questions carrying
4 marks each. Answers to them should not normally exceed 70 words each.

(vi) Questions number 12 — 15 and 27 — 30 are long answer questions carrying 6 marks
each. Answers to them should not normally exceed 100 words each.

(vii) Answers should be brief and to the point and the above word limit be adhered to as
far as possible.

gug — 3
Section — A
1. Torell a%q ! giea 9 Fa AATST@T 8 ? 1

When 1s a good considered an inferior good ?

2. 379d M (TEITH) 38 99 2 : (H&! [aehed )
(A) o1 3TFTH i Hed IcATGH H HET HEl

(B) <hiad

(C) (A) AR (B) gHI

(D) 3I9UTH H § IS 8] 1
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Average revenue equals : (Choose the correct alternative)
(A) Total revenue divided by the quantity produced.
(B) Price

(C) Both (A) and (B)

(D) None of the above

3. 3cUTed BeAd shi TIHTST €l | 1

Define production function.

4. e ol wferEt o w1 FeerRiaa ot EEeT T g B ¢ (FE feehed gRv)
(A) TR $Hd
(B) ToX 37 3™ (F=ITHH)
(C) TR dimra Amm (|wfe)
(D) ST gt 1

A perfectly competitive firm faces : (Choose the correct alternative)

(A) Constant price
(B) Constant average revenue

(C) Constant marginal revenue
(D) "All the above

5. Top" TR o STATT.H Ueh BH i shiFd T ehieh el Idl & 7 1

Under which form of market a firm 1s called price taker ?

6. HHNcHD JUIME I ATCIh JUIME b Sid I FqA8T | TIeh Dl Teh-Ueh 3IGIaW
HiEi k
COCH
Ty ATE 3 HATY tfme o e 3R Fd1EY | Tdh i Tsh-TUsh 3¢ELUl i |

Distinguish between positive economics and normative economics. Give an example

of each.
OR
Distinguish between micro-economics and macro-economics. Give an example of
each.
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3caTe YTSHT Ik ¢ § 26 1< shl 3T @rd] o1 Bl 8 7 GHETEU |

Why does a production possibility curve slope downwards from left to right ? Explain.

HAT AT b1 GHeheld shiTu |

When price of a good rises by 20 percent i1ts demand falls by 40 percent. Calculate 1ts

price elasticity of demand.

Tsh %] shl ‘Tid | gig’ b feheal Gl STl shl SIREAT iU |

Explain any two causes of ‘increase in supply’ of a commodity.

ST& Teh o bl shiFd 20 TTARTd S@dl & df 38eh! 1T 40 Tfasra TR STt 8 | $8eh! shiFd

10. T WA 3R HHETd 3T (FETH) oY gRI 3cq1e o1 dderd Tl 31d shiteld, | 379
I ok T s €T |
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Identity the equilibrium level of output using “marginal cost and marginal revenue”
approach. Give reasons for your answer.

Price Output | Total Cost | Marginal Cost
) (Units) ) )
10 1 10 10
10 2 19 9
10 3 26 7
10 ! 36 10
10 5 48 12
OR
Identity the three phases of the law of variable proportions. Give reasons.
Variable Input | Total Product
(Units) (Units)
| S
2 11
3 15
4 17
J 15

1. 19 BH hed a-{h Th Gul JaAN SIS H shal37l shl SS! HEAT Bldl & dl 35! JTR T

T TR IS8 7 AT hifolU | 4

What difference does it make to a perfectly competitive market when we say that

there are large number of buyers 1n 1t ? Explain.

2. T IJUNRAI shadd G a&qall X 3T Y o1 IUYNT LAl & | T TN Te¥edsor g
3UYIRT et <hl I shl ST hITIT | 6

A consumer consumes only two goods X and Y. Explain the conditions of

consumer’s equilibrium using Marginal Utility Analysis.
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3. &I W@T AR FREE ash ohl TS GIoY | I8 W GHEATSE Toh QHI §1¢ § QU A1 ol
AR EAT I Bld & 7 6

SR

(%) =i gy Hefi [ar =41 Bl @ ? Ty |

(W) ITAEHHE Ik 39 FII il &8 ? JHSATST |

Define budget line and indifterence curve. Also explain why the two are downward

sloping from left to right ?
OR
(a) Why 1s budget line a straight line ? Explain.

(b) Why i1s indifference curve convex ? Explain.

14. T HOlgeT b H FUAT YR ol & AN 319 Wiicd dict Yo § SJad™ & Hid! & | T8
ST F1 Y99 Ht W FHLAT 2 | 3EH HY IR W SIS Foh JTedl W8 AT 371
AdHTEd ANTd Sdrst | 3794 3T b TIU shIUT ST | 6

A woman borrows money from a bank and starts a business 1n a building owned by
her. She manages the business herself. What are the explicit costs and implicit costs

in 1t directly identifiable ? Give reasons for your answer.

15. UHt 319 g b a&q X W Iaq™ Gt il oh TIM UL 3Tehedl Y&ATIAd “aeq 3R Hal L
(GST) &TH & %] X U el L HTh! A Bl ST | 38 a&d X ohl shidd 3T HT W
TS Il TS <hl T HHSATZT, | T Sl T HINT | 6

It 1s expected that replacement of all existing taxes on good X by the proposed single
Goods and Services Tax (GST) will bring down overall tax on good X substantially.

Explain 1ts likely chain of effects on price and quantity of good X. Use diagram.
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sherel ISR T o foTe s Te 15 o TIH W

VEft 3T 2 foh avq X W gdu At i % T W 3Tehell ST “aeq 3T HT HO
(GST) WM 8 o1& X T HeA L hIh! HH Bl TR | $8eh 9 X 1 hiFd I AR T
TS I FHTET hl e FHEATET | TTTCTehT T AT ST |

For the blind candidates in lieu of Q. No. 15
It 1s expected that replacement of all existing taxes on good X by the proposed single

Goods and Services Tax (GST) will bring down overall tax on good X substantially.
Explain 1ts likely chain of effects on price and quantity of good X. Use a schedule.

gdig — ¢

Section — B

16. W H foceh gamamE via o : (W& foshed gim)
(A) 3T & HT UTT # |
(B) YTIToTeh &1 o1 UTT & |
(C) (A) 3T (B) THI T W Z |
(D) 39URH H 9 Tohdt o1 Wi YT 781 2 | 1

Foreign embassies in India are a part of India’s : (Choose the correct alternative)

(A) Economie territory
(B) Geographical territory
(C) Both (A) and (B)

(D) None of the above

17. Hifges Tehel Gl 3cdTG | o1 ST B 2 1

What 1s meant by Nominal Gross Domestic Product ?

18. TSIohIYIT UTCT 36eh THM g : (Fal fashed gHT)
(A) ITITH °1eT — ST WA
(B) TTHeh T + TS Yd
(C) A &9 T — DA oI JITHAT
(D) 39K H Y his i T8 1

Fiscal deficit equals : (Choose the correct alternative)

(A) Primary deficit minus interest payments
(B) Primary deficit plus interest payments

(C) Total budget expenditure minus total budget receipts
(D) None of the above
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19. TR a9l H TS ITH 9 =7 37T & 7 1

What 1s meant by revenue receipt in a Government Budget ?

20. 9RA | Trd Teh et Taeer T T2rd Teh il | SYR oicl & | YR o YTaM dde @rd
H I e hH 1 [hd SATd1 2 7 (F& faehed FHT)

(A) <ol @Id o shige (credit) 981
(B) <ol @Id o sfare (debit) g d

(C) YsihTd @Td o shige (credit) g1 4
(D) UShTd @Td o Sfeie (debit) ue1 g 1

A company located 1n India receives a loan from a company located abroad. How 1s
this transaction recorded in India’s balance of payments account ? (Choose the

correct alternative)

(A) Creditside of current account
(B) Debit side of current account
(C) Credit side of capital account

(D) Debitside of capital account

21. U] ¢ §ATST foh MHIIRGT o A1 T 37 HUd GHYI =1 IR b1 SATdT 3 :

(i) U A g R @iled 7 Seb § I 7T K0T 9 ST T |

(i) o e Samstl T SR gi TohdT TR &3 |
(iii) I $hT3 b (T4 HIMH Tied WY | 3

Giving reason state how are the following treated in estimation of national income.

(1) Payment of interest by an individual to a bank on a loan to buy a car.
(1) Expenditure by government on providing free educational services.

(1) Expenditure on purchasing a machine installed in a production unait.
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22. Ueh = o TR AT 3T I AT o6 = 3Tq §dTsC | 395 § i 91 T 37 5
YT o f&gTd 1 TR & 7 3

SR

HIHd ITART Tt N 6 s=d Tt o s A Gd13C | ST h sie =T Ha9 8 ?

Distinguish between ex-ante measure and ex-post measure of a variable. Which of the

two forms the basis of the theory of national income determination ?
OR

Distinguish between average propensity to consume and average propensity to save.

What 1s the relation between the two ?

23. T HHTG TN JGhd 0.5 7, I 91 01 o Heof ol THehar shita | 3

[f marginal propensity to consume 1s 0.5, calculate the value of investment multiplier.

24, HH WISU drTeh oh YNNI U Iidee &1 631 SI1d1 2 | 389 (h) Hehal Tie] 3cd1g 3N
(W) SHeATU U Y dlet FHTIId THTE hl ST shifold | 4

SR

3T o [0+ AT H Jig 8 FHTS b hedT0T T =T YHTS JSdl @ ? THSATST |

Suppose a ban 1s imposed on consumption of tobacco. Examine 1ts likely effects on

(a) gross domestic product and (b) welfare.

OR

How does increase in inequalities i distribution of mmcome affect welfare of the

society ? Explain.

25. g Tofees AR MY 31urd 0.2 81 3R 93 SHE¢ T 1,000 &I, a1 STV Sebl gRT g
gsie hl TTshT FHETST | 4

If Legal Reserve Ratio 1s 0.2 and new deposits are I 1,000, explain the process of

money creation by the commercial banks.
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26. g1 AYfd B HH T T “Gol ST o hR—¥heA™” shl YiHehl THATIT | 4

Explain the role of “open market operations™ in reducing money supply.

27. HET A AR T Yfd Tty g TP 3™ Sqed T 1 HURU 99y | Wi @
STANT ShITNTT | I8 i TH3ST Toh AT FHU AN T Jfd A HA B Al SHBT TN IAE I | 6

Explain determination of equilibrium level of national income using aggregate
demand and aggregate supply approach. Use diagram. Also explain the effect when
aggregate demand 1s less than aggregate supply.

hacl I¥a TSR o Tt 797 & 27 & WM W

For blind candidates in lieu of Q. No. 27.
qHY AT 3T G0 gid & &1 A 8 7 Il JH AT 3T FAT i <1 TR eI 7
21, Il b AT o1 Gefeld shel BT ? Afe THY FI1T HHY Yfd & 7 1l 1 BT & ?

HHSATLT, | 6

What 1s meant by aggregate demand and aggregate supply ? Given aggregate demand
and aggregatc supply behaviour, when 1s an economy in equilibrium ? What happens

when aggregate demand 1s less than aggregate supply ? Explain.

28. ‘ITAT ASHT oh AU TR Te WM o HId @ aTet THERT bl o Tet. 91.5f1. s

T M ¢ I 8 | ThRI Sl o HIETH § TLhR i |1 3239 T i T TIcT L &l
2 3R HY 7 TS | 6

AT

ATSU fohd YR I &9i¢ H i, o9 3T ATk Ta™FdT o HILIH § 91941
37T ol YT TehdT ST TehdT & |
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The Government, under Ujjwala Yojana, 1s providing free LPG kitchen gas
connections to the families ‘below the poverty line’. What objective the government

1s trying to fulfil through the government budget and how ? Explain.

OR

Explain how the allocation of resources can be influenced in the government budget

through taxes, expenditure and subsidies.

29. Toreefl Tafm=r sl | b i |l shl 3TR 38Heh! Gl o diF @ld1 shl SAREAT iU | 6

Explain three sources of demand for foreign exchange and three sources of supply of

foreign exchange.

30. () THSI A QT (@) TS AT Bl YeheTd hiialy ; 6
R )
(i) M=Taqrfid 3THl 6l §=d 30
(ii) RAcheh TAST 3T 900
(iii) GThHT Yo favm &bt forfae urfet 20
(iv) THRTH/ATTY ot 100
(V) ERILECT 150
(vi) AR IS eh TI9TT ohl IR 3T 9189 ° IT9 379 50
(vil) TR H ITH =Te] ATl 50
(viii)  foreer sl Haet 9Te] g&aTaw (-) 10
(ix) ST Tiora &1 <h JAfaatia oy 10
(X) TS R0 WS 40
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Calculate (a) Private Income and (b) National Income :

(1)
(11)
(iii)

(1v)
(V)
(V1)

(vii)
(viii)
(1X)
(X)

(X crore)

Savings of non-departmental enterprises 30
Personal disposable income 900
Miscellaneous  receipts of  Government  Admunistrative 20
Departments

Corporate profit tax 100
Personal tax 150
Property and entrepreneurial income accruing to the Government 50
Administrative Departments.

Current transfers from Government 50
Net current transfers to abroad (—) 10
Undistributed profits of private corporate sector 10
National debt interest 40
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